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This question paper contains 34 questions. All questions are

compulsory.
This question paper is divided into two parts — Part — A and Part — B.
Part — A is compulsory for all candidates.

Part — B has two options i.e. (I) Analysis of Financial Statements and
(1) Computerised Accounting. Candidates must attempt only one of the

given options as per the subject opted.

Question Nos. 1to 16 and 27 to 30 carries 1 mark each.
Question Nos. 17 to 20, 31 and 32 carries 3 marks each.
Question Nos. 21, 22, and 33 carries 4 marks each.
Question Nos. 23 to 26 and 34 carries 6 marks each.

There 1s no overall choice. However, an internal choice has been
provided in 7 questions of one mark, 2 questions of three marks, 1

question of four marks and 2 questions of six marks.
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(AT Wi e st 3 fore orate)

1. (a) ar auT 9 U BH % AIPER  qUT 3 : 2 % I1ATd ° o9-g1i sied & | SHhl

Tt G5t shAeT: % 90,000 TR 2,10,000 off | IR 1 378, 2022 1 wiosy §

@Y % 1/59 W % foru fiareft o6t weh T ameeR s | fiareft st 4sh % ferg
% 1,50,000 @S | fercreft & waw1 o B 561 et BT west B

A) 3,00,000 B) ¥ 7,50,000
(C) %1,50,000 (D) % 30,000
JAYAT

(b) ST qeT fe TTEIeR & @ 5 : 3% U § AW Siedl § | I oy § 3/83 W
& fotu forn 1w T Areier s, fSEent 2/84T Wit 39 ofin & e 1/84T W
T & v fema | s, e e femm 61 7@ oy T St g
A 3:2:3 B) 2:3:3
(C) 5:5:6 M) 9:1:6

2. T, GO qe g9 Tk BH o HTEIER 9 9UT 3 : 2 ¢ 1% I1UTd H oY died 9 | gHA BH
T YT B T | gue <l Fafaei st fafr 6 gua o % 30,000 33 9 | A9 HigeRi A
oot foren fo6 3@ o w9 anfies fopwat & weet o <t wmfeq & wmy heeh fopam
@ | % 30,000 T FEAEOT = 0§ hE @1 § foman SR 2
(A) FAT T RO G
B) gu = fsaTes > @I
(C) guH 1S @Il
(D) GHT 1 =] @I

3. afrerem (A) : dISiel VA ARl o HeT FEY B S SIGER I o sied % oY Tand gu

2 Torent gemer gl g steren gl o fore foreht wop gru fpan st aeman 2 |

FROT (R) : af¢ Th AR THH Yo 1 IS ATHR HTAT § 9T Y o A1 Tl
HAT 7, Al T8 IHBT AGT HUT qUT @™ & Afora qeft A9 1 Pra= w4
AT |

frefefiaa o @ g2 foeea o1 =@ AT

(A) THI (A) 7T (R) T £ |

(B) THI(A) 7T (R) T @ |

(C) THI (A) T (R) W21 2 a1 (R), (A) 1 9t e 2 |

D) THI (A) 71 (R) T8l € 71 (R), (A) 3! 92 AT - 2 |
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PART - A
(Accounting for Partnership Firms and Companies)

1. (a) Nita and Samar are partners in a firm sharing profits in the ratio of
3 : 2. Their fixed capitals were T 90,000 and ¥ 2,10,000 respectively.
They admitted Mitali on April 1, 2022 as a new partner for 1/5th
share in future profits. Mitali brought ¥ 1,50,000 as her capital. The

value of goodwill of the firm on Mitali’s admission was : 1
(A) ¥ 3,00,000 B) T7,50,000
(C) %1,50,000 (D) 30,000

OR

(b) Bina and Ria are partners sharing profits in the ratio of 5 : 3. They
admitted Siya as a new partner for 3/8th share which she acquired
2/8th from Bina and 1/8th from Ria. The new profit sharing ratio of

Bina, Ria and Siya will be : 1
A 3:2:3 B) 2:3:3
(C) 5:5:6 M) 9:1:6

2. Nita, Suman and Harish were partners in a firm sharing profits in the
ratio of 3 : 2 : 1. Suman retired from the firm. On the date of Suman’s
retirement, ¥ 30,000 was due to her. The remaining partners decided to
pay her in three yearly instalments starting from the end of the first year.

% 30,000 will be transferred to which of the following account : 1
(A) Suman’s Loan Account (B) Suman’s Executor’s Accounts
(C) Suman’s Bank Account (D) Suman’s Current Account

3. Assertion (A) : Partnership is the relation between persons who have
agreed to share the profits of the business carried on by all or any of
them acting for all. 1

Reason (R) : If a partner carries on any business of the same nature and
competing with that of the firm, he/she shall account for and pay to
the firm all profit made by him/her in that business.

Choose the correct option from the following :

(A) Both (A) and (R) are correct.

(B) Both (A) and (R) are incorrect.

(C) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(D) Both (A) and (R) are correct and (R) is not the correct explanation of (A).
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4. g, e qen A Tk BH o AEER 9 99T 5 : 2 ¢ 3 % 1T H AW -1 died 9 |
30 S, 2022 %! @il 1 9 71 T8 | AEiEH] Horg § yang™ ot foh foret ot wmgier i
g & 9 gy i fafer 7o wH & 71 H I8eh W Sl 0T e fF St ok 3fed o
H ¥ % 10,000 TR hT STRAT |

et i avt % A 9
T4 T /A ()

31 T, 2020 1,20,000

31 7, 2021 (50,000)

31 94, 2022 1,70,000
Ty 1 fafer qes e o et o1 9T o
(A) ¥ 35,000 B) 9,583
(C) % 28,750 (D) % 8,750

5. %10 % U gHar 31w o gt wltr win <ff 78 oft e fm W % 6 1 A foman
ST I TN BT PTAE T B T g0 H o w1 | 389 =1 8 9 forg ~gaam o
oA Feifera femem s wehaT 2 2
A 4 B) %10
G %16 D) %6

6. Ted W fifird T 10 T % 200 THT 39 T T 3 Wit 3797 hY T AT 61 YT
T T KL Toran | % 2 wfa arer <t arfeam areen anft wift € S oft | s
o fopaft Tfsr <Rt @it 3rer gt < A ey | Sl St 2
(A) 2,000 B) 1,600
(C) % 1,000 D) 2,200
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4. Khushi, Namita and Manvi were partners in a firm sharing profits and
losses in the ratio of 5 : 2 : 3. On 30th June, 2022, Khushi died. The
partnership deed provided that on the death of a partner, her share of
profit till the date of death was to be calculated on the basis of average

profit of last three years less ¥ 10,000. 1

Profits for the last three years were :

Year ended Profits/Loss )
31st March, 2020 1,20,000
31st March, 2021 (50,000)
31st March, 2022 1,70,000

Khushi’s share of profit till the date of her death was :
(A) 35,000 B) T9,583
(C) 28,750 (D) T8,750

5. An equity share of T 10 fully called up on which ¥ 6 has been paid was
forfeited for the non-payment of the balance amount. At which of the

following minimum price can it be reissued ? 1
A) %4 B) 10
C 1o D) %6

6. 200 equity shares of T 10 each issued at par were forfeited for non-payment

of first call of ¥ 3 per share. Final call of ¥ 2 per share was not yet called. By

which amount the share capital will be debited on forfeiture ? 1
(A) 2,000 B) T1,600
(C) %1,000 D) 2,200
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7. 3, Toom qUT 9o U HH % HTEIGR & qUT 4 ¢ 3 : 3% TG H @Y died 9 | 1 37194,
2022 § I8 GATY I Th F1 HIHGR SR | 3G, [ooM, Fa TAT T 1 Fa1 &4
fowTe S 3 : 3 : 2 : 2 BN | 31 T, 2022 Wi 3k feufa faawor w1 Igwor =

TR B fen g
®) ®

fraw SarR-wgr@ @= | 80,000 | & @R ge= % 80,000) | 90,000
JITY & Ja9T R 91 SaR-=rera T=’ 1 f & & B 91 i@ieh 98l 8 ?

A=

P B KR S iy
®) ®)

Q) | e SaR-=ee T= @ ™ 10,000
NS EICEECIGII 10,000

B) | e IaR-Tee 499 @rdl ™ 80,000
3g %1 Joft @rar 32,000
IEEREIRIRCIl 24,000
Ta T St @rar 24,000

(C) | YTYcHTHA GTaT T 10,000
fram SAR-<rgTe = @ 10,000

D) | e SaR-<e T=F G ™ 80,000
Fraw @ 10,000
3g 1 Ysft @rar 28,000
IEEREIR RGNl 21,000
Ta o1 Yoft T 21,000

8. (a) 3Afha, gitra aun fhamn Tmger E aum 2 ¢ 2 : 1 % 37U H o-B1H o1 fawed
Hd & | Gt 1 HHRE ¢ o I G A W 15% HHLE I g | HHIH ¢ o
I8 3G & % 9,20,000 7 | it 1 <7 SHefie g
(A) %1,20,000 (B) %1,38,000
(C) ¥ 48,000 D) 55,200
e
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7. Indu, Vijay and Pawan were partners in a firm sharing profits in the ratio
of 4 : 3 : 3. They admitted Subhash into partnership with effect from 1st
April, 2022. New profit sharing ratio among Indu, Vijay, Pawan and
Subhash will be 3 : 3 : 2 : 2. An extract of their Balance Sheet as at 31st
March, 2022 is given below :

Amount Amount
Liabilities Assets
® ®
Investment 80,000 | Investments 90,000
Fluctuation Reserve (Market Value T 80,000)

Which of the following is the correct accounting treatment of ‘investment
fluctuation reserve’ at the time of Subhash’s admission ?

JOURNAL
Particulars Debit Credit
Amt. ®) | Amt. })
(A) | Investment Fluctuation Reserve A/c  Dr. 10,000
To Revaluation A/c 10,000
(B) | Investment Fluctuation Reserve A/c  Dr. 80,000
To Indu’s Capital A/c 32,000
To Vijay’s Capital Alc 24,000
To Pawan’s Capital Alc 24,000
(C) | Revaluation Alc Dr. 10,000
To Investment Fluctuation Reserve 10,000
(D) | Investment Fluctuation Reserve A/c  Dr. 80,000
To Investments Alc 10,000
To Indu’s Capital A/c 28,000
To Vijay’s Capital Alc 21,000
To Pawan’s Capital Alc 21,000
8 (a) Amit, Sumit and Kiara are partners sharing profits and losses in the
ratio 2 : 2 : 1. Sumit is entitled to a commission of 15% on the net
profit after charging such commission. The net profit before charging
commission is ¥ 9,20,000. The amount of commission payable to
Sumit will be :
(A) 1,20,000 B) 1,38,000
(C) 48,000 (D) 55,200
OR
67/5/3 Page 9
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(b) Y, 9 qUT TR TH BH & TR B AT 2 : 2 : 1% FAd H o9 -BH sied 7 | 31
AT, 2022 <1 T T Y o foTT 3o @1 o <1 9e7 | YSft O AT b1 @t 5%
yfa o &t g 10% ¥fd o & & T | TR wrEh O e T 2,00,000;
% 1,00,000 @1 T 50,000 2ft | Ffe T Gare o fote srrerveres wromisrHT gfafs grft :

A=

P au Ay | S
® ®

Q) | it =1 =T @Ta ™ 2,000
Y T =T @Al 1,000
3TR T =T @Al 1,000

B) | i 1= @I ™ 3,000
Y T FTe] W 2,000
3TR T =Te] Wl 1,000

(C) | ¥t =1 I5ft @rat ™ 2,000
PG IRCIGl 1,000
TR 1 Ysft e 1,000

D) | 1 IS0 @ ™ 3,000
% 1 Ysft Wrar 2,000
3TR T Ysft e 1,000

T heufves uftfeufa o1 ufe aum gHeh STTUR WIS 9. 9 7T 10 T 3 T :
T, i e sfirar e wd i AR § 195 ¢ 3 1 2 % AU B o siedt § | SehI
Trft 4Sft shEer: 7 1,80,000; 3 1,60,000 €T % 2,00,000 8 | 31 9T, 2022 1 THT
LAY § e 3 yes fommet & 311 § 3 7,500 <1 T8 foa |

9. WTICH Ford T ISt W 10% STk g AT ¢ o1 JTae 7 | 3i7ar 6t 4sft v =t
wfsr geft
(A) T 18,000 B) 16,000
(C) 20,000 (D) 10,000

10. 3THHd TEHT oh1 B fS7 R 3TTEEor 9T STt Shi UM s STt &1
(A) 3% wEH B) 4% &=
(C) 7% H&H D) 67N
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(b) P, Q and R are partners in a firm sharing profits and losses in the
ratio of 2 : 2 : 1. For the year ended 31st March, 2022, interest on
capital was credited to them @ 10% p.a. instead of 5% p.a. Their fixed
capitals were ¥ 2,00,000; ¥ 1,00,000; ¥ 50,000 respectively. The

necessary adjustment entry to rectify the error will be : 1
JOURNAL
Particulars Debit Credit
Amt. R) | Amt. }R)
(A) | P’s Current Alc Dr. 2,000
To Q’s Current A/c 1,000
To R’s Current Alc 1,000
B) | P’'s Current Alc Dr. 3,000
To Q’s Current A/c 2,000
To R’s Current Alc 1,000
(C) | P’s Capital Alc Dr. 2,000
To Q’s Capital A/c 1,000
To R’s Capital A/c 1,000
(D) | P’s Capital Alc Dr. 3,000
To Q’s Capital A/c 2,000
To R’s Capital A/c 1,000

Read the following hypothetical situation and answer Question Nos. 9 and
10 on the basis of the same.

Nitya, Shreya and Ishita are partners in a firm. They share profits in the
ratio of 5 : 3 : 2. Their fixed capitals are T 1,80,000; ¥ 1,60,000 and
% 2,00,000 respectively. For the year ending 31t March, 2022, Nitya
withdrew % 7,500 at the end of every quarter.

9. The partnership deed provided that interest on capital will be allowed

@ 10% p.a. The amount of interest on Ishita’s capital will be : 1
(A) T 18,000 B) T 16,000
(C) 20,000 (D) 10,000

10. The average number of months for which interest on drawings will be

calculated, will be : 1
(A) 3% months (B) 4% months
(C) 7% months (D) 6 months

67/5/3 Page 11 P.T.O.



11. (a) 3maem fafes 33 10 99 & 1,10,000 3191 &1 52 20% Hiftem w fffia
Topam T e, T2 ufd 319 1 oy Ireen a3 3 id 31w i 31f<m A &
A T S I ET S AT | 3791 JT0T @I o STHT 9&T | Wi+t b SRRty
(A) % 5,50,000 B) % 17,70,000
(C) % 2,20,000 (D) % 5,00,000

Froran
b)) ISR TR R ?
(A) T FTeTeh [ S & 373 Gord &9 8 SEa=oiy T8 g |
B) e doft srfirem 4ot =1 o8 v & @ wim T R |
(C) @t o Sfgfiarmt o & s dot & srferes Toft shroeft wehfora =i o6t wemelt |
D) IS 1 g TE =M o 9 N et st & faeed % g € wim S
TehdT 7, ISit § hgATdr 2 |

12. (a) USl, U QT T Ush HH o TR & AT 5 : 3 : 2 o ITITd § i ST fI9m=i
211379, 2022 | I8 ATHI ! SUsK sied s fuly frar | & faf¥ 61 amm=
= 1 T 2,00,000 T Y T AT A - @ H T 4,00,000 T STHT AT T |
Y TaTer 31T | Ui o HRoT SRl o ToTe Ustmmn faf gnft

A=
e am i ) | s A )
(A) | I E= T T | 2,00,000
AT -1 @rar 2,00,000
(B) | uH w1 ISH @ am 80,000
T 1 S @ am 20,000
T o1 Yol @ 1,00,000
(C) | 9= T= g @Il | 2,00,000
AT - @ T | 4,00,000
TS 1 Uoft @ 2,00,000
TH T el @ 2,00,000
T 1 YSH @l 2,00,000
D) | I F= T Tl T\ | 2,00,000
AT - @ T | 4,00,000
TS o1 Usfl @ 3,00,000
TH 1 Yl @A 1,80,000
T o1 Yol @t 1,20,000
Jroran
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11. (a) Aysha Ltd. forfeited 1,10,000 shares of ¥ 10 each issued at 20%
premium for the non-payment of first call of ¥ 2 per share and final

call of ¥ 3 per share. Share Forfeited Account will be credited with : 1
(A) %5,50,000 B) ¥7,70,000
(C) T 2,20,000 (D) 5,00,000
OR
(b) Which of the following statements is true ? 1

(A) The shares of a public limited company are not freely transferable.

(B) Paid up capital is that part of the subscribed capital which has
been called up.

(C) The company cannot raise more capital than the amount of
capital as specified in the Memorandum of Association.

(D) The part of the uncalled capital which is called only in the event
of winding up of the company is called Capital Reserve.

12. (a) L, M and N are partners sharing profits in the ratio of 5 : 3 : 2. They
decided to share profits equally with effect from 1st April, 2022. On
that date, there was a balance of ¥ 2,00,000 in General Reserve and a
credit balance of ¥ 4,00,000 in the Profit and Loss Account. The
Journal Entry for the above on account of change in profit sharing

ratio will be : 1
JOURNAL
Particulars Debit Amt. | Credit Amt.
Q) (9]

(A) | General Reserve Alc Dr. 2,00,000

To Profit and Loss A/c 2,00,000
(B) | M’s Capital Alc Dr. 80,000
N’s Capital Alc Dr. 20,000

To I’s Capital Alc 1,00,000
(C) | General Reserve Alc Dr. 2,00,000
Profit and Loss A/c Dr. 4,00,000

To L’s Capital Alc 2,00,000

To M’s Capital Alc 2,00,000

To N’s Capital Alc 2,00,000
(D) | General Reserve Alc Dr. 2,00,000
Profit and Loss A/c Dr. 4,00,000

To L’s Capital Alc 3,00,000

To M’s Capital Alc 1,80,000

To N’s Capital Alc 1,20,000

OR
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(b) T, oTS YT IS BISER & qUT 2 : 3 : 1 % U § g1+ wied 8 | 1 313,
2022 H 3 9iasT § i b1 3 : 2 : 1% U H de o1 iy foram | amw-
BT faarem s § afteds & 999 @rdi § gst 9 fohu Tu s %1 o, ot
qeaehi § f Jehr & fopam s
(A) TTIER % YSft @l o 19 U § @t Hieh |
B) AR GTd o ATH U&7 H Tl hieh |
(C) et WA o ST UeT | @ellH! hish |
(D) EEERT % Goit @i & ST 9er § @l b |

13. 3mfeea, i aum 3ifehd e w1 o HISigR 9 99T 4 @ 3 : 3 % 3TIUTd H oIy -gI died

14.

15.

& | 31 9T, 2022 1 ®H W forered &1 T | foreres Wfha i 90 & & fore smfeea i
frafe 1 78 fraep forw 3@ T 42,000 1 urfefires < o1 | anfecy foreren =921 A
T o foTT wgwa & T | e W arEfaes =9 % 33,000 7, fSEewt yrae snfee 3
forar | amifeea o doft @ o ST 9er § @t < Steaeft iy gnft

(A) 42,000 (B) 33,000

(C) %9,000 (D) % 18,000

%, @ aUT T 1 TSR] B & foered & @ua giud oy T 40,000 1 = 3 @ fom @md
T gEaraia femam Starm 2

(A) TR T (B) =gcht @

() wrEr & §h @ (D) &% @

(a) W RO fSehT WTae ush fafire srafer ot wmrfed X sreran st 61 e srafy
H Ushyyd 1UaT fehvd § fohan SITan 8, 39 9 H 9 A |
(A) et o
(B) ferfare o <t SRoT
(C) ure o
(D) wfiEd-T o
e
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(b) X, Y and Z are partners sharing profits and losses in the ratio of
2 : 3 : 1. They decided to share future profits in the ratio of 3 :2 : 1
with effect from 1st April, 2022. At the time of change of profit
sharing ratio, unrecorded furniture will be recorded in the books of
Accounts by : 1

(A) Debiting it to Partners’ Capital Account
(B) Debiting it to Revaluation Account

(C) Crediting it to Revaluation Account

(D) Crediting it to Partners’ Capital Account

13. Aditya, Abhinav and Ankit were partners in a firm sharing profits in the
ratio of 4 : 3 : 3. On 31st March, 2022, the firm was dissolved. Aditya was
appointed to complete the dissolution process for which he was allowed a
remuneration of ¥ 42,000. Aditya also agreed to bear dissolution expenses.
Actual expenses on dissolution amounted to ¥ 33,000 which were paid by

Aditya. Aditya’s Capital Account will be credited by : 1
(A) 42,000 (B) 33,000
(C) T9,000 (D) 18,000

14. On dissolution of the partnership firm of A, B and C, the accumulated

profits of ¥ 40,000 will be transferred to which of the following account ? 1
(A) Revaluation Account (B) Realisation Account
(C) Partners’ Capital Accounts (D) Bank Account

15. (a) The debentures which are payable on the expiry of a specified period
either in lump-sum or in instalments during the life time of the
company are known as : 1

(A) Secured debentures
(B) Specific coupon rate debentures
(C) Redeemable debentures
(D) Convertible debentures
OR
67/5/3 Page 15 P.T.O.



(b)

oo o gexl H fer § & B |1 YT wdt T B 2

(A) =T o1 fefe e foren St EeRaT 2 |

B) o w1 frfea o2 A foran S EshaT B |

(C) FoTgT 1 fontee wunfeees wfanfa & &9 & fpen s ashar 2 |
(D) o 1 fotee Srferges o feba ST AR R |

16. feR 3tfer fafiee 3 3tHg fafies @ % 3,60,000 o st afewafaat o1 sk femam aen
% qed T PTAH T 100 T&h b 11% FRITTHAT bl 10% g R i swees o |
sfifter 7el faafiree 6 grar fifia ot <6t o of -

(A) 3,600 B) 36,000
(C) 40,000 (D) 4,000

17. (a)

(b)

67/5/3

T, 3TN, et qeiT fods Th B & AR S a1 5: 3 : 2 2% I |
T ded ¥ | 31 AT, 2022 I HAA AT & T | T, TN a9 e 1
s o T SUER-SRIeR died w1 fof o | shwet 1 Janfafa o o i wfa
T Jeameh % 9,00,000 foham 7= |

3T U 1 THEAT | S §Y HAA ol HATHI T TN b R@ieh i
ITavIeh U= wiafs Hife | =g frofr forn man 2 6 wnfa 61 % 6 geaest §
EURIEEE L

Fera
31gel AT AT TR & TAT 3 : 2 o A H A Sled o | U I A F 1/49
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(b) Which of the following statement is incorrect with respect to
debentures ? 1

(A) Debentures can be issued for cash.
(B) Debenture cannot be issued at discount.
(C) Debentures can be issued as collateral security.

(D) Debentures can be issued at premium.

16. Premier Auto Ltd. purchased assets of the value of ¥ 3,60,000 from Anand
Ltd. and made the payment of purchase consideration by issuing 11%
Debentures of ¥ 100 each at a discount of 10 %. The number of debentures

issued by Premier Auto Ltd. were : 1
(A) 3,600 B) 36,000
(C) 40,000 (D) 4,000

17. (a) Tarun, Abhishek, Kamal and Vivek were partners in a firm sharing
profits in the ratio of 5: 3 : 2 : 2. Kamal retired on 31st March, 2022.
Tarun, Abhishek and Vivek decided to share future profits equally.
On Kamal’s retirement goodwill of the firm was valued at ¥ 9,00,000.
Showing your working clearly, pass the necessary journal entry for
treatment of goodwill on Kamal’s retirement. It was decided not to
show goodwill in the books of the firm. 3

OR

(b) Atul and Geeta were partners sharing profits in the ratio 3 : 2. Ira
was admitted into the firm for 1/4th share of profits. Ira brought
T 40,000 as her capital. The capitals of Atul and Geeta after all
adjustments relating to goodwill, revaluation of assets and liabilities
etc. are ¥ 60,000 and ¥ 40,000 respectively. It is agreed that capitals
should be according to the new profit sharing ratio.

Calculate the amount of actual cash to be paid off or brought in by
the old partners. Pass the necessary journal entry/entries for the
same. 3
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18. Aayush and Aarushi are partners sharing profits and losses in the ratio of
3 : 2. They admitted Naveen into partnership for 1/4th share. Goodwill of
the firm was to be valued at three years’ purchase of super profits.
Average net profit of the firm was T 20,000. Capital investment in the
business was ¥ 50,000 and Normal Rate of Return was 10%. Calculate the
amount of Goodwill premium brought by Naveen. 3

19. (a) Asha, Disha and Raghav were partners in a firm sharing profits in
the ratio of 2 : 3 : 1. According to the partnership agreement, Raghav
was guaranteed an amount of ¥ 40,000 as his share of profits. The
net profit for the year ended 31st March, 2022 amounted to
% 1,20,000.

Prepare Profit and Loss Appropriation Account of the firm for the
year ended 31st March, 2022. 3

OR

(b) Akhil and Nikhil were partners sharing profits and losses in the
ratio of 3 : 2. Their fixed capitals were T 1,00,000 and ¥ 80,000
respectively. Interest on capital was agreed @ 6% p.a. Nikhil was to
be allowed an annual salary of ¥ 9,200. During the year 2021-22, the
net profit prior to the calculation of interest on capital but after
charging Nikhil’s salary amounted to ¥ 1,20,000.

Prepare Profit and Loss Appropriation Account of the firm for the
year ending 31st March, 2022. 3

20. Neon Ltd. purchased assets worth ¥ 18,00,000 and took over liabilities of
%2,00,000 of Zenith Ltd. for a purchase consideration of ¥ 15,00,000. Neon
Ltd. paid the amount by accepting a bill of exchange of ¥ 3,00,000 and the
balance was settled by issuing 10% debentures of ¥ 100 each at a premium

of 20%. Pass necessary journal entries for the above transactions in the
books of Neon Ltd. 3
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21. Shiv Ltd. was registered with an authorised capital of ¥ 9,00,000 divided
into equity shares of ¥ 10 each. The company issued a prospectus inviting
applications for issuing 80,000 equity shares. The company received
applications for 79,000 equity shares. All calls were made and duly
received except the second and final call of ¥ 3 per share on 4,000 shares
held by Anu. These shares were forfeited.

(a) Present the ‘Share capital’ in the Balance Sheet of the company as
per Schedule III, Part I of the Companies Act, 2013.

(b) Also prepare ‘Notes to Accounts’ for the same. 4

22. P, Q and R were partners in a water dispenser manufacturing firm. They
were sharing profits and losses in the ratio of 2 : 2 : 1. On 31st March,
2022, their Balance Sheet was as follows :

Balance Sheet of P, Q and R as on 31st March, 2022

Liabilities Amount Assets Amount
® ®)

Capitals : Plant and Machinery | 1,25,000

P - 50,000 Land and Building 1,50,000

Q - 1,25,000 Debtors 40,000

R — 1,00,000 2,75,000 | Stock 35,000

General Reserve 1,25,000 | Cash at Bank 75,000
Sundry Creditors 25,000

4,25,000 4,25,000

Q died on 30th June, 2022. According to the partnership deed, his legal

representatives were entitled to :

(1) Interest on capital @ 12% p.a.

(11) ¥ 12,000 for his share of Goodwill.

(i11) His share of profit till the date of death was to be calculated on the
basis of sales. The sales from 1st April, 2022 to 30th June, 2022 were
% 62,500. The sales and profits of the firm for the year ending 31st
March, 2022 was T 5,00,000 and ¥ 1,25,000 respectively.

Prepare Q’s Capital Account to be rendered to his legal representatives. 4
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23. (a) Vani Limited invited applications for issuing 1,00,000 equity shares of

% 10 each at a premium of 10%. The amounts were payable as under :
On Application and Allotment — ¥ 4 per share (including premium 1)
On first call — X 4 per share

On second and final call — X 3 per share

Applications for 1,50,000 shares were received and pro-rata allotment

was made to all the applicants.

Excess application money was adjusted towards sums due on calls.
Parth, a shareholder who had applied for 600 shares did not pay the
first call. His shares were forfeited. The second and final call was not
yet made. Half of the forfeited shares were reissued at ¥ 8 per share

fully paid up.

Journalise the above transactions in the books of Vani Limited by
opening calls in arrears and calls in advance account wherever

necessary. 6
OR

(b) Pass necessary journal entries for forfeiture and reissue of forfeited

shares in the following cases :

(1) Vipin Ltd. forfeited 10,000 shares of ¥ 10 each issued at a
premium of ¥ 1 per share, for non-payment of second and final
call of ¥ 2 per share. Out of these, 60% of the shares were
reissued at ¥ 7 per share fully paid up. 3

(11) Deepak Ltd. forfeited 800 shares of ¥ 10 each, ¥ 8 per share
called up, for non-payment of first call of ¥ 3 per share. All the

forfeited shares were reissued for ¥ 12 per share fully paid. 3
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24. (a) Kamal, Rahul and Neeraj were partners in a firm sharing profits and
losses in the ratio of 5 : 3 : 2. On 31st March, 2022, their Balance
Sheet was as under :

Balance Sheet of Kamal, Rahul and Neeraj as on 31st March,
2022
Amount Amount
Liabilities Assets
®) ®
Capitals : Land and Building 1,70,000
Kamal 1,20,000 Plant and Machinery | 2,60,000
Rahul 1,20,000 Stock 1,00,000
Neera; 1,20,000 | 3,60,000 | Debtors 80,000
General Reserve 1,20,000 | Cash 50,000
Sundry Creditors 1,80,000
6,60,000 6,60,000
On the above date, Rahul retired and following terms were agreed
upon :
(1) Goodwill of the firm was valued at ¥ 3,50,000.
(11) An item of ¥ 10,000 included in Sundry creditors is not likely to
be claimed and hence written off. Stock was valued at ¥ 90,000.
(i11) Capital of the new firm was fixed at T 2,10,000 and the same
will be adjusted in the profit sharing ratio of the remaining
partners. For this purpose the required cash will be brought in
or paid off as the case may be.
(iv) Amount payable to Rahul will be transferred to his loan
account.
Prepare Revaluation Account and Partners’ Capital Accounts on
Rahul’s retirement. 6
OR
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(b) Ashish and Vishesh were partners sharing profits and losses in the

67/5/3

ratio of 3 : 2. Their Balance Sheet as at 315t March, 2022 was as

under :

Balance Sheet of Ashish and Vishesh as at 31st March, 2022

Amount Amount
Liabilities Assets
® ®
Creditors 30,000 | Cash at Bank 50,000
Outstanding Debtors 80,000
electricity bill 20,000 Less : provision for
Capitals : bad debts 2,000 | 78,000
Ashish  3,00,000 Stock 1,12,000
Vishesh 2,00,000 | 5,00,000 | Machinery 3,00,000
Profit and Loss A/c 10,000
5,50,000 5,50,000

On 1st April, 2022, Manya was admitted into the firm with 1/4th

share in the profits on the following terms :

(1) Manya will bring T 1,00,000 as her capital and ¥ 50,000 as her

share of goodwill premium in cash.
(1) Outstanding electricity bill will be paid off.
(ii1) Stock was found over valued by ¥ 12,000.

Pass the necessary journal entries in the books of the firm on

Manya’s admission. 6
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25. Pass necessary Journal Entries for the following transactions, on the
dissolution of a partnership firm of Kavita and Suman on 31st March,
2022, after the various assets (other than cash) and third party liabilities
have been transferred to Realisation Account.

(a) Kavita took over stock amounting to ¥ 1,00,000 at ¥ 90,000.

(b) Creditors of ¥ 2,00,000 took over Plant and Machinery of I 3,00,000
in full settlement of their claim.

(¢) There was an unrecorded asset of ¥ 23,000 which was taken over by
Suman at I 17,000.

(d) Realisation expenses ¥ 2,000 were paid by Kavita.
(e) Bank loan ¥ 21,000 was paid off.
() Loss on dissolution amounted to ¥ 7,000. 6

26. Chiranjeevi Limited issued 2,000, 10% debentures of ¥ 100 each. Pass the
necessary Journal entries for the issue of debentures in the following
cases :

(a) When debentures were issued at 10% premium, redeemable at 5%
premium.

(b) When debentures were issued at 5% discount, redeemable at 10%
premium.

(¢c) When debentures were issued at par, redeemable at a premium of
10%. 6

PART-B
OPTION -1
(Analysis of Financial Statements)

27. The current assets of X Ltd. are ¥ 2,00,000 and its current liabilities are
% 1,50,000. If, its working capital turnover ratio is 6 times, its revenue

from operations will be : 1
(A) % 2,00,000 (B) < 3,00,000
(C) % 2,50,000 (D) 1,50,000
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28. (a) Which of the following are not tools of Financial Analysis ?

(b)

(1) Cash Flow Statement (1) Income Statement
(111) Balance Sheet (iv) Ratio Analysis
(A) @) and (1) B) (@1) and (@v)
(C) (1) and (ii1) (D) (@ii) and (iv)
OR

Which one of the following statement is incorrect ?

A4)

®B)
©)

)

Liquidity ratios are calculated to measure the short term

solvency of the business.

Current ratio is also known as Acid Test Ratio.

Solvency ratios are calculated to determine the ability of the
business to service its debt in the long run.

Proprietary ratio expresses the relationship of proprietor’s

funds to net assets / total assets.

29. Which of the following activities are operating activities for the purpose of

preparing ‘Cash flow statement’ ?

@
(i1)
(ii1)
@)
A4
©)

30. (a)

67/5/3

Dividend and Interest received on securities.

Payment of employee benefit expenses.

Cash receipts from royalties and fees.

Issue of shares against purchase of machinery.
(1), (i1) and (iii) B) (1), (i) and @v)
(1), (11) and (1v) (D) (1) and (ii1)

Which of the following transaction will result in no flow of cash ?

A4)
®B)
©
)

Purchase of machinery
Sale of investments
Acquisition of machinery by issue of equity shares
Redemption of debentures
OR
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(b) Match the transactions given in Column — II with their correct category

given in Column — I for the purpose of preparation of ‘Cash Flow

Statement’. 1
Column -1 Column - 11
(a) Investing Activity (1) Interest paid

() Financing Activity (i) Purchase of Goodwill

() Operating Activity  (iii) Cash receipts from sale of goods
(a) (b) (c)

@ @) @ @i1)

B) (1) @) (i11)

© @ i) @)

D) @) @) @)

31. Under which heads and sub-heads the following items will appear in the
Balance Sheet of Company as per Schedule III, Part-I of the Companies
Act, 2013 :

(a) Loose tools
(b) Calls-in-Advance

(c) Capital Reserve 3

32. ‘It is the process of identifying the financial strengths and weaknesses of
the firm by properly establishing relationships between the various items
of the balance sheet and the statement of profit and loss’. Identify the
process highlighted in the above statement and state its any two

objectives. 3
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(i) <EN & T 1,00,000 hH T I |
(iii) ¥ 10,00,000 % 11% FUTIAT T INEA |

iv) T 4,00,000 % HTeT T ITR 3T |

34. 9= HTeufeh HUF 1 afen qum 3T AR 9 A= feu T T9=11 o I i

T8 2019 ¥ arfefa 7 T foafies’ 9@ =1 3w wR-3m I fRa | e

fafiee w i @ e acll 31 8 | T & T STEehal o HRU TR 3

N1 & IR A TG &2 |
31 T, 2022 1 FHTE §C a9 o fore fesst fatfires o feurfa faawon & fm g sgfa
EIRIEE
31w, 2022 31 W, 2021
®) )

THAT 37 doft 90,00,000 60,00,000

11% oT9s 30,00,000 50,00,000
T (AT eI W) 28,00,000 20,00,000
R T Thha qoasE 90,000 60,000
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33. (a) From the following information, calculate the value of opening and

closing inventory :
Inventory Turnover Ratio — 4 times
Gross Profit = 20% on Revenue from operations
Revenue from operations =¥ 10,00,000
Opening inventory is 25% of the inventory at the end. 4
OR
(b) Debt-Equity Ratio of Z Ltd. is 2 : 1. State with reason whether the
following transactions will improve, decline or will not change the
debt-equity ratio :
(1) Conversion of ¥ 3,00,000, 9% debentures into equity shares.
(i1) Cash received from debtors ¥ 1,00,000.
(111) Redemption of ¥ 10,00,000, 11% debentures.
(iv) Purchase of goods on credit ¥ 4,00,000. 4

34. Read the following hypothetical text and answer the questions given

below on the basis of the same :

Aditi, initiated her start-up ‘Fizz Ltd. in 2019. ‘Fizz Ltd. is an
organic juice extracting unit. Its profits are increasing year-after-year

because of the increasing awareness towards health.

Following information has been extracted from the Balance Sheet of ‘Fizz

Ltd.” for the year ended 31st March, 2022 : 6
31st March, 2022 | 31st March, 2021
® (Y

Equity Share Capital 90,00,000 60,00,000

11% Debentures 30,00,000 50,00,000
Machinery (at cost) 28,00,000 20,00,000
Accumulated Depreciation on

Machinery 90,000 60,000
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311‘?!'&8?-[‘{33:":
(i) 9% A T 4,00,000 AR 6T T HH T fersha T 30,000 o & TR Foham 7 |
(i) 9§ HefE o SRR T gedstE 2 50,000 T |
(iii) 11% O W T T T St K U ¥ 5,50,000 oft |
(iv) THAT 37 W T 3,00,000 o ATHI T PTAM fha1 77 |
(v) ROTIHT ST INEH 31 7=, 2022 31 10% Siftrem o o i |
Fopew fetfiree &t Frawr fafafRrt aen foxfia nfafafrr @ ke yamg 6 o Hifse |
- &
fererea - 11
(crfreRfer SRaen)

27. (a) T d 9 HE a1 TE-UE H (HHH) HT dh (TRHS) T8 8 2
(A) TE-AG-TF (FF-FF-2)
B) W — I« — A (I — 3 — HieH)
(C) T — Afe — JEcT (I3 — 3 — HicH)
(D) dfcher WIaT (SATTSThet 352)

Froqan
(b) el U el Tehleh b1 Gor Teharn STt & it feart Tt erehaite fers 2t & 2
A) = B) IR
€ w D) @
28. (a) TUHUH g9y H U & (Fieg) TM fores & forw Suamr foru i wehet et 2Afrehad
A= (hiaeH) Y TET R
(A) 28 B) 32
(C) 64 D) 104
Jroran
(b) wehaie | fsaifea i 8 srf=m fsran o1 Ieted o foru fre A 4 i &t i & St
77
A) g B) =g
©) W= D) g

29. T pIg fHH e (3TehIEH) YT TR Aot &, g 2 -
(A) hites (HeafireT) wiga
(B) @UE () HigH
(C) & high
(D) T HEH (HHIT) g
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Additional Information :

@

(i)
(iii)
(iv)
)

During the year, a machine costing ¥ 4,00,000 was sold at a gain of
T 30,000.

Depreciation charged on machinery during the year was ¥ 50,000.
Interest paid on 11% debentures amounted to ¥ 5,50,000.

Dividend of ¥ 3,00,000 was paid on equity shares.

Debentures were redeemed at a premium of 10% on 31st March, 2022.

Calculate cash flows of ‘Fizz Ltd. from ‘Investing Activities’ and
‘Financing Activities.’

27. (a)
(b)
28. (a)
(b)

PART -B
OPTION -11
(Computerised Accounting)

Which of these is not a argument of the IF function ?
(A) Value-if-true (B) Value-when-false
(C) Value-if-false (D) Logical test
OR
How many blank worksheets are shown when a new workbook is
created ?
(A) Three (B) Four
(C) One D) Two

Maximum number of characters that can be used to write a field
name in MS Access is :
(A) 28 B) 32
(C) 64 (D) 104
OR
Which of the following command reverses the last action performed
in the worksheet ?
(A) Undo (B) Cut
(C) Paste (D) Redo

29. Codes comprising of alphabets or abbreviation are known as

A4)
©)

67/5/3

Sequential codes (B) Block codes
Number codes (D) Mnemonic codes
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30.

31.

32.

33.

34.

feda s o fae o HT e & 8 2

(A)  ATehel o1 BHT ST (Fee)

(B)  Srereryt Hefie

(C) TR 1 Ufekd T U b1 T8 T of ST
(D) ATehel i S AT T AR T& HL HAKAT R |

TG T YUt <t e Iq-Tomfera shi THeisy :
(a) HI U AT <F IT-JUTTeA]
(b) NI TR IT-TOTTeA

T T’ 1 Y T | A H T qUT HYU Ul e H ST=aHg it |

(a) TGTHA Tsh ol TRTTNG SHITE TuUT Teh @i =sh H HfRIfod STaqiadi bl
HHATET |
T
(b) ARl crETR JUITCR o TREITCHe 1Y o &9 § “TTHTE TR qT ‘ST 3Aftse’
%1 379 T KT |

39 3TYfg T TH FARY AN 9 Yehe Bl & IS T e (Whid) A9 A8 Fan | Ieo
HIRT o o7 Fr31fig HO wxiiferd 6l <1 whd 2 |
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30.

31.

32.

33.

34.

Which of the following is not the advantage of Pivot table ?
(A) Filtering of data

(B) User-friendly

(C) Moving rows to columns and columns to rows

(D) Cannot summarise large amount of data

Explain the following sub-systems of Accounting Information System :
(a) Purchase and Accounts payable sub-system

(b) Costing sub-system.

Give the meaning of ‘Cell reference’. Differentiate between ‘Relative Cell
reference’ and ‘Absolute cell reference.’

(a) Define Accounting cycle and state the phases involved in an
Accounting cycle.
OR

(b) Explain the meaning of ‘Password Security’ and ‘Data Audit’ as
security features of Computerised Accounting System.

Name the error which appears when the cell reference is not valid. State
how this error can be corrected.
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